\ | ‘s B
B ’
1 vagj.’lfress“rgm“f i@;fté;:;m*(zglécg) 25°C T FAREM (CHCL,) a1 S
_and dichloromethane > at 25°C are FIT: '
200 mmHg and 41.5 mmHg respectively. (CEL ) = EITGW s LD mmbig B
Vapour pressure of the solution obtained 41.5 mmHg ¥ 255g CHCl & a9
' by inixing 25.5 g of CHCIl, and 40 g of 40 g CH,Cl, % firem v wra faerem = a9
CH,Cl, at the same temperature will be : AC B2 e e it
(Molecular mass of CHCl, =119.5 u and
molecular mass of CH,Cl, =85 u) (CHCL, 1 #19 M1 =119.5 u 991 CH,CL 1
(1)  285.5 mmHg S AR ¥ o Lt
21739 mmHg W =i mmbly % L j
(3) 615.0 mmHg fe) 75 mmilg
" {4) " 347.9 mmHg (3) 6150 mmHg 0 lw
(4) 347.9 mmHg ’@5
2. The Gibbs" energy for the decomposition
of AlLO, at 500°C is as follows : 500°C R ALO; % fames & fd firsy S
2 4 G- Freferfem Bt & -
= ALO;~» T A+ O, ; e \
. 3 A "t:'_ “%AIO EAI . *’(%@!G{;ﬂ){gr
AG= +960 kj.mol~ 1. T 3 Prger Qg \gE -
' The potential difference needed for the A,G= +960 k] mol 1 _
electrolytic reducti ini i ¢
ctrolytic re nuCan of alu‘mlmum oxide 5000;:1;;% tfares ( Alzoa)&"fq@
(ﬁlz@g) at 500°C is at least : AL S . :
: ceo 1! Joaa & fed fava i T A dw dar 2
W oy B 1) 50V
2 45v (=2 (s S+ -,}L-S
| s G ﬂ;) (2) 45V U - +
) 730V 2= ¥ 3) 30V KO
D25V o, ‘é ) = =
| - 2 R (4) 25V -
i 3. Four successive members of the first series ;
il' . “of the transition metals are listed below. mﬂﬁ F1 5o Aoft & T F qRGE
;;__ For which one of them the standard A T R Fee A el o ¥ e @
: pntentlal [ - ;M} value has a positive foed ford <= fam (E;2+;M] ] |1
J - sign? yres faeg e #2 '
| i (1) - Fe (Z=26) (1) Fe (Z=26)
_: (2) Co (2=27) 2) Co (Z=27)
: (3) Ni (Z=28) (3) Ni (Z=28)
@) Cu (z= (4) Cu (Z=29)
é—;aiwmqlmm 'EH'J'*:F!!"-':{: i L R kS L Y e b R LT

collegedunia:s

India’s largest Student Review Platform



4.  Which of the following exhibits only +3
- oxidation stale ?

1) Pa

@ U

3) Th
NG Py O

5. Molar conductivities (ﬁi“} at infinite
dilution of Na Qﬂlm are
1264, 425.9°and 91.0 S cm? mol !
respectively. A, for CH;COOH will be :

LA1T" 3905 S cm? mol =1 ¢ny

| c»—g:wm 425.5 5 cm? mokal (v coon

2 -1 8 Q'}.S.ﬂ
(3) 18055 cmz rnol_ .—49-"*:{3”
(4) 290.8 S cm? mol ! T L6
R
50" %
6. In which of the foliowing arrang?iamems

the given sequence is not strictly according

to the property indicated against it ?
\)J)/C%}:c: 510, < SnO, < PbO, :
\ increasing oxidising power.

- HF < HCl < HBr < HI : increasing
acidic strength
H,0 <H,S < H,Se < H,Te
increasing pK, values
4) s NH; < PH, < AsH,; < SbH, :
increasing acidic character

7.  Consider the reaction :
RCHO + NH,NH,-»RCH =N - Nk,
What sort of reaction is it ?
k(})/ Nucleophilic addition - elimination
reaction
{2) Electrophilic addition - elimination
reaction

(3) Free radical addition - elimination
reaction

(4) Electrophilic  substitution -
elimination reaction

b““ml‘“mhMInmﬂrtrrw“ LU e
e :

.

e, *RR o m P
Wkl . .

et d ] 19 I + 3 3999 avaen yefif

F@ 8?7
(1) Pa
(2) U
(3) Th
(4) Ac

=

T4 9949 W), NaCl, HCI 39 CH,COONa

] IS TR ( A, ) HHY: 126.4, 425.9
A1 91.0 S cm? mol =1 ¥, CH;COOH =1

Aom Bt

(1) 39055 cm? mol~! |
(2) 4255Scm?mol”™! . . U
(3) 180.5S cm? mol~1 *
(4) 2908 S cm? mol~!

frafafes st | s o™ w9 ¢ 9
feaad o7 amA fafee gowd & srEr &

37 |

(1) CO, < SiO, < SnO, < PbO, /-agaT
SifRiTFREs amed

(2) HF < HCl < HBr < HI : 9gd 3014
gme

(3) H,0O<H,S < H,Se < H,Te : 951 pK,

(4) NH,; < PH, < AsH; < SbHj : oG

RCHO +NH,NH,-RCH =N ~ NH,

g fog var 1 afufswan €2

(1) TiFeE geher-faeie sifvisa
() ToEITEE dwes-faciry afifEn
(3) ! Hewa dxem-faaign sfyufwm
(4) soEAEE ufaeury-faeia arfufswan

s HATH SRR i)
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8. | Durmg change of O, to O; .ion, the

following orbitals ?

(1) o orbital
42} 4 orbital

(3) = orbital

(4) o* orbital

‘ 9. Standard reductic;n potentials of the half
reactions are given below :
FZ(g) %2&“—}21?‘{3{]) ¢ E2= +2.E§5 w
Cl, 2(g }-i 2e” }ZCI“(aq}; E=+136 V
Brzﬂ)+2e —>Z?.Br'*(aq} ; E°=+106YV
gy t2e” —;21‘(3{]} ; E9=+053 V
The strongest oxidising and reducing
- .. agenis.respectively are :
il (l Cl, and I,
Va/ Fyand [~
Br, and C1™

{4) Cl, and By~

10.  The catalytic activity of transition metals
| « and their compounds is ascribed mainly
: for '

(1) their chemical reactivity
(2} their magnetic behaviouy
{3)  their unfilled d - orbitals

\w their ability to adopt variable
. Ooxidation states

. 11.  Equal vojumes of two monoatomic gases,
; A and B, at same temperature and pressure
: are mixed. The ratio of specific heats

(C /C,) of the mixture will be

h.-electmn adds on which one of the |

7 - / gt
\,Ll;/ 1 ‘6 1 y.\ r_\ [
(2) 0.83 ‘;é,,,-- @5 i xJN /M)
@) 1.50 ’ ,}\
@) 3.3
| TREORTRETRR AT nemee - i s ol

10,

11.

ERRRRE '3 Y I EEF ko

B

O, O, 1A | Ifad7 et sy frefafay

afsieel ¥ ¥ frg ¥ aef s 22
(1) o afdfea
(2) * I
(3) 1 anfdea
(4) o+ anfded

a4 sfafiran & aFE s fave A9 R
e

F:Z{g) +2e‘—>2F“{aq} - E°=+285V
(:12{5}+2E“"’2C1"{aq} ; EC=+4+136 V
31‘2{1) +Ze“'—+ZBr'“{aq) s =+1.06 YV
12{5} + 28*'—»2[‘{3@ 5 E°= 4053V

USTITH ST a1 ATI9H Fay: ¥ -
(1) Clyaa,

(2) F,qur(-

(3) Br, A1 Cl-

(4} Cl, a9 Br— -

HerHo! Tei oI 3T vt #F ss whwam
F1 HTA: HRT Y :

(1) 9% TwEt sfutramte

(2) T YHEhHIE HTER

(3) I M d - snfeledt

(4) =T siFdTeiter suggq srawgel W
HI ST F 49

g HAgfTE e, A o B ¥ wueR sngad

M a9 SR T W e o €1 fasor et -

ST A1 (C,/C,) T ST B
(1) 1.67

(2) 0.83
(3) 1.50
(1) 3.3

L am i m i g W

Ll LEETES o1
Sl o
e
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AL V1Y \e
oy Y \% t
\ a3 Z5.

12. Given that the equilibrium constant for the
reaction

2505+ Oy = 2 SO3(g

has a value of 278 at a particular
temperature. What is the value of the
equilibrium constant for the following
reaction at the same temperature ?

SO3g) = SO0y + V2 Oy

(1) 1.3x10°3 | s
() 1.8x10°3 e v
A33.6%x1073

(4) 6.0x1072

13. Which one of the following sets forms the
biodegradable polymer ?

1y {CO)- CH=CH, and

\/)/ CHZ—CH CN and
CH,=CH-CH=CH,

(3)-- H,N -CH,~COOH and
H,N — (CH,); - COOH

(4) HO-CH,—CH,—OH and
2 2

HOOC - @ COOH

14. In the replacement reaction
=Cl+MF —>—CF + MI

The reaction will be most favourable if M
happens to be :

(1) Li

) Na
3) K
(4) Rb

f"l

12. wmﬁﬂmwwm

280,y + Oo(gy = 2505 F ferg W Feertien

&t T+ 278 feon T &) 3R 9 w e
it
50"‘*[1:}* "(; '/7-0"(&.]
% fore wrm frerfw @ = /= §m 7
(1) 1.3x1075 " m uwm
. s ]
(2y 18x1073 BECE
(3) 3.6x10-3 x
(4) 6.0x10"2 '

]

13, Fre a9 | 95 w S Jafeiw i sgee

AT E ?

(1) @-CI—I=CH23ﬂ'{
CH,=CH-CH=CH,

(2) CH,=CH-CN 3k

CH,=CH-CH=CH,

(3) F,N-CHH,-COOH @R

4) HO-CH,-CH,—~OH &R

HOOC @—COOH‘

14, gfaegs sifsfeos .

£ a

—CI+MF—:~-—-CT+MI

¥, ﬁﬂmﬁwaﬁﬂ@ﬁﬂﬁmm
K

(1) Li

(2) Na

(3) K

4y Rb ;.

C e et an il Rk R LR R T

g
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15;

7

Activation energy (E,} and rate constants
(k; and k,) of a chemical reaction at two
different temperatures (Ty and T,) are
related by : ko ll
At e}
e S
Ao
s o B (11
; Bg (L_ 1
2) ky " R |Ty T
. i "_ ._kz Ea 1 1
S iy (Tz TI]
kz E"l 1 1
B e e o e e o
@ =3 (Tz T }
; ﬁ"—@“ it Bl > 1
| Pl _ _ E.u
InkKi = A SR O Oy
Al
h\lgﬂ
16. Whlch one of the following does not
correctly represent the correct order of the
property indicated against it ?
(1) Ti<V<Mn<Cr: increasing 2nd
" ionization enthalpy
h () Ti<vV<Cr<Mn: increasing number
..of oxidation states
'%-IH < v e %bi“ < M
increasing magnetic momentY
( O 3 e
4) Ti<V<Cr<Mn: increasing melting r
rmmt, ﬁ&\) [U ,] \l ’j‘\—h
l’ﬁmwi*"'["“}? AL R e S s EEUR

B

15. A fafs am, T, 991 T, W ww sifufr 59
- o e (E,) 791 X Fradian (k, 41 k)

T YHR grafyg ¥ .
ﬁ“ E, 1 1
B In ST [T1 _Tz}
K _ B fA_ L) ® ;
@ Wp=-3 {Tl Tz]
52_ E, 1 1
G) Inig =~ R (Tz Tl)
k2 Ea ] 1
-& _ _ Ba [ 4
= By R (T2 Tl]
£u .
=it :
(= {3':4 "Eﬂqﬂ
o2l p
%ﬂmwmmwﬁ%
FH % IR efiem ¢ § ) |
(1)  Ti<V<Mn<Cr:agi f5ia smm
T
(2) Ti<V<Cr<Mn: 39999 arEesi)
1 9gd) qEm
(3) T < V3 < OB* < M3+ - ST
TFHIY 2Tee
(1) Ti<V<Cr<Mn: 9ga ¥
T Y S T TR LT AT T
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17.

18.

Red precipitate is obtained when ethanol
solution of dimethylglyoxime is added to
ammeniacat Ni (11}, Which of the foliowing
statements is not true ?

(1) Dimethylglyoxime functions as

bidentate ligand.

(2) Red complex has a square planar
geometry.

(3) Complex  has
H - bonding.

symmetrical

(4} Red complex has a tetrahedral

17,

I EEHYTEETATSEEE & JTHIgfaw
e i srdifarener Ni (1) 0 faomyr S
T @ TR SEEY W g T ﬁﬁlﬁﬁ?m
FUA Tl A T 7

(1) ey ey dee w1
*m‘f?l El-?[lf L] %I

(2) @1 ArEA i satata amEelr 2
7

(3) St H wHiEaH - Wﬁtﬂl%| |
(4) wwaﬁwﬁﬁmﬁﬁ.

geometry.
; . %|
!
OH 1 NW\J
C—-C=N | LOH

dimethylglyoxime = | { @
Y&y HqC—C-:N m o H3C C N
| "OH H, c-c N

An organic compound (CaHgN) (A),
when, treated with nitrous acid, gave an
alcohot and N, gas was evolved. (A} on
warming with CHCl, and caustic potash
gave (C) which on reduction gave
isopropylmethvlamine. Predict the
structure of (A).

(1) CH,CH,CH, - NH,

CH
3™~ _
(2) CH?;",' CH - NH,

(3)” CH,CH, - NH ~ CH,

(4) CH;- N ~CH,y

l
CH;

B Y . Il

18.

“OH -

T AT AT (C,HN) (A), T & ATEgH

e ¥ |1 ST foman T @ U ewiEd

femn &l N, 7@ frset | (A) ) CHCl 3R
Fifee drerw & Ty T HA W (C) W gA |
ﬁsmﬁamﬁmmﬁaﬁaﬁﬁmﬁm L
(A) F) G H YRS R

CHy
5 "> CH-NH,
@ e
(4) CH3;—N —CH,

l
CH,

e e sttt D wwﬂﬁﬁyﬂ

N

"

T

collegedunia:s

India’s largest Student Review Platform



i e RS e e
SR r)

ER L o LR E S R T

19. Structure of a mixed oxide is cubic close -
packed (c.c.p). The cubic unit cell of mixed
. oxide is composed of oxide ions. One
- fourth of the tetrghedral voids are occupied
by divalent metal ‘Aland the éctahedrai ’
voids are occupied by a MMQIJ
B. The formula of the oxide is :
(1)  ABO, | 44
2) ABO, %F | ‘
[
“-_ILS/}/‘“AEBOE ‘ﬁ?‘r '-g ﬁ*%
| (4)  A,B30, e L
20. The orbital angular momentum of a
p - electron is given as :
h.
; YLD
J6. - /\(’I X2
) (:l) e .
%
h F{(K?fk
3 %
2
h
B 2
%) 21
. |3 A
3 2
21, Four diatomic species are listed below,.

[dentify the correct order in which the
bond order is increasing in them

E:e}:;"l’ﬁg < O3 <&I_C_);§ €5 .

R
o -
(2. NO<O; < 2 < He!
= 2_
(3) ©O; <NO< 2™ < He,
LY
(4) C4 < Hel< O, < t‘S}
; [
e S 3
ro-%h L
S ]
{o--

B di ATy, A e EETR R E A S

7 S SR ARG 7 R Ern b0 PSR

-

u B

19.

20,

21.

Yoo .

p—

e e
= |
U 49 AT Tt WA o WHad (c.c.p) |
21 fuy sifemgs w1 =9 PG CARS m 1
ATl &1 9 gan B4 ERew e wrl w5 ]'.

w W um fdes ygATa wa gt
Y] SfFeRge faa T wHEaeT oIy B R :
(1) AB,O, ;+EQ-%*£- |
2) ABO %

’ W
(3) A,BO, | _,,-é:ﬁl
(4) A,B,0, - w6

€
THF p - ﬁmmaﬁa%aﬁnw

g fear s R

h 3
(1) JEE _ o4 l= _?
,’;‘_—r% e G
h Ay
@ o K
(3) Jizh -

=R fyrmfas wivis = fod @ €1 39

Hﬁ%ﬁﬁﬁwaﬂﬁqmﬁﬁﬁ%m
m%a‘@ﬁgﬂﬂ%: /// 4‘}66.&#
()  He, <0; <NO< 3~

(2) NO<Oj < C2" < Hel o]

(3) ©O; <NO<C3 < Hel

(4) C57< Hes < O, <NO

India’
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B 10
@ Which of the following compounds can be
used as antifreeze in automobile

radiators ?

() CH, O, and H,

The gases given in set-1 in increasing order

wgases given in set-Il in decreasing
rger of ‘a’, are arranged below. Select

the correct order from the following -

22.

SRS (v ) e A srf%if%n
% w9 4 7 Al § @ =% vgma € g
2?7

(1) Ethyl alcohol 5
&) Methyl a]cnb\r/ (1) e
(3) Glycol (2) Hiae Yewwete
(4) Nitrophenol (3) TEEH
(4) TARIHHS
- 23. For real gases van der Waals equation is
written as 23. Wﬁ%ﬁ%ammw
2 | v fermr s §
P+ (V-nb)=n RT - .
b+ an” L
where ‘a’ and ‘b’ are van der Waals Vz (¥=-mb)=n RI
constants. ﬁﬁ'a’ 3 b A =1 T » ?‘ft '
Two sets t:;ag?s are | il % 2 B B
@) O, e, H, and He - |
() O, CO, H, 3R He-

(I) CH, O, 3R H,

Je-17 &t T e @b F W gumm A ek
-1 8 T N F 2’ F wed guwn A A
sggfes fom 7 %1 o0 @ wdt 79 W E

(1)  (I) H,<0,<He<CO, (II) O,>CH,>H, -
(2) () He<Hy<CO,<0, (I) CHy>H>O, (1) (1) Hy<0,<He<CO, (II) O,>CH,>H,
() () Oy<He<H,<CO, () Hy>0,>CH, (2) (I He<H,<CO,<0, (II) CH,>H,>0,
g M) H,<He<0,<CO, (II) CH,>0,>H, (3} (1) Oy<He<H,<CO, (IT) H'Eb?OZ?*CHJt -
(4) " () Hy<He<O,<CO, (1) FH4>§)2>H2'
24. A certain gas takes three times as long to : 3
effuse out as helium. Its molecular mass | 54 o N Sferaa ®Y dqern ¥ Preafa 29 ¥
will be :
- THI §AE ! 8, $HH ] §e 0 g
1} 9u _34{_ - i (1) 9u
@ 27u e @ 2w . -
W 0= - 4 3) 3%6u S
(4) 6é4u (4) 64u - |
o e g S e mm.-.-“ R e Eor st ‘-::.: S gl “,,__. 2 Fgrr ,4 -m;a WHWMI !!m .

: s i A
: S e DIPTSR S S
B .o Sl et caee e cmEe ksl T ek ..u - -

Q

]

‘a&ﬂ#rn
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India’s largest Student Review Platform



E:E‘ '.l'*Ei
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b N T—
f i"l" *
.i" -
25.. Consider the following reaction -
@COC] H, -
w 1AI
' .. The product ‘A’ is ;
(1) C.HsCl
L@)/ C,HsCHO
\Q;/cZHSOH
| 4 CHZ;COCH,
i 26. Which of the following reagents will be
3 able to distinguish between 1-butyne and
2-butyne ?
(1) Br,
(2" NaNH,
) (3)  HA
@0,
Y
27.  Which of the following compounds will
give a vellow precipitate with iodine and
alkali ? - o
y c a e"" L
_ (1) 2 - Hydro:;gypropane [‘-. 1
f Y ° {015
' ' {2) Acetophenone | /:.::R
21
Kﬁijethyl acetate K |
\ CHad = [y
(4)  Acetamide | CONLT |
: Q
i @ Chloroamphenicol is an ;
L ; | vﬁ*)’ “ antibiotic - broad spectrum
|“ (2) antifertility drug
; :
| (3} antihistaminic

‘(}} antiseptic and disinfectant

25,

26.

27.

28.

LRI U H

C¢HsCOCH,

12T R 2w ¥ ER S ¥ R

= afierrenl ® @ F 9y 2o

(1) Br,

(2) NaNH,

(3) HCl

(4) O, g

=1 el § | B o ot hdwt ¥
Y it T7 T Ay 2y ? '
(1) 2 - ggiemds

(2) UERRHER

@) e Y

(4) TUHIIATS

(1) odfas-ars Twm
(2) wfaf=a g
(3) ufafgerft
(4) i i Jmpe

Vol AT K LR ey rﬁw 3

C s R d 43
S, T
o TE LR . :
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29, Given the reaction between 2 gases | 29, A, @4 B, NI sifiers &1 e B gl ¥ dm
represented by A, and B, to give the arffar o TAB, difrE =@ 21
compound AB,_,.
A P+B 2 A, Azig) + Barg) =2 AByg)
28) * P2(g) ¥ < P(g) + Y R A,, B, ABEE'T‘HRHT??{ w® ‘ﬁT{% |
_ At equilibrium, the concentration " =3 M
of A,=3.0x107* M A, Bl TdT = 3.0% %
of B,=42%1073 M B, ® WEA=4.2x10"3 M
of AB=28x10"3 M AB ! TFEM=28%10"3 M
If the reaction takes place in a sealed vessel Tfe 5a7eC uy s1iufEm v e g o Bt ] ‘cﬁ
at 527°C, then the value of K_ will be : K 1 T 2 -
Wy 45 1M:~u:5” (1) 4.5 « 5 g,
) 2.0 1D ke * 2y 2.0 : I T
3y 1.9 (3) 1.9 R
(4 0.62 (4) 0.62 g
30. Low spin complex of Idﬁ—:cation in an | 30, 46— 99E A TewaHY wee ¥ et fem
octdhiedral field will have the following T 3
energy: &R
il I J 1) —A_+P
(1) —5“30-!-? L__ — 5 “o ;
) - 12 A 47
~12 e —
s 5 o
2] gl mﬁ"l ‘M‘W
. THIEE . T ERSSEPEAR = i
= (3) e A,+3P
B35 A 3P UG
to '
) —_ (4) _""'fl + 2P
' 4 *5—&0 +2P
'_ _ e wies fr Fﬁ@ﬁ @H ﬁmz‘—l
: (4, = Crystal Field Splitting Energy in an -
i octahedral field, "
P= Electron pairing energy) P= TR g )
31. In the five-kingdom classification, | 31. SIERELEE a‘ fieTor mﬁmﬁ _Al, -
Chlamydomonas and Chlorella have been oo fews afiwfed ﬁq_rrqﬁﬁ -
E included in : (1) AT : oo
'57 @ Frotm @ e
': (3) W
¥ (3) Algae
(9 Plantae (4) ==
!I
I e

s g4 H,aJH{

v e sear el ke i ot mﬂﬂﬁh T
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i '
i 13 B .
| . |
i, 32." Identify the likely organisms (a), (b), (c)and | 32, T femm 1 @ @’ e A (a), (b), (c) A
i () in the food web shown below : (d) Sraurd T & gFa & veuit
e - |
P /,.__. lioin ﬁltl =
' hawks .. T
aowls  foxes gnakes - Eaol wrPeai | |
( arden () \ / firere {c}
izard /
i a _
- & mice (b} \31 ‘ass () sparrow {b) ﬁi‘[ (@)
\ \ ! / h::-ppr/ \\ / .
: Vegetation/seeds
oy
Options : ;
; @ ®| © | @
: ; (a) (b) @ | @ 4) |freedt| faeet | wm | FEW
w ' ° 4 (1}jsquirrel ..cat. rat |pigeon @ | &= S -
s wA(2)] deer rabbit frog rat @) | T ﬁ I : -
3})] do squirrel | bat | deer
) os = . @) | s | 9 | ¥ | =k
(4)| rat dog itortoise| crow
33. wdend g frw ferd fe s 2
+ 33. A test cross is carried out to :- P .
' (1) =% fauifa =0 & fag fs dwenfar an
: ‘(l) determine whethexr two species or TR WA T FOM 91 T _
= varieties will breed successfully.
- 2) U 98 FE, W s gy fuifE w0
E (21 determine the genotype of a plant at % fe
b ’ E..
: (3) gEuyon @ ¥ fag fe @ 2w
(3) predict whether two traits are (W) e € a1 g |
hinked.
(4) fardl s % Vehel @t den faviia
(4)  assess the number of alleles of a gene. FT & faul
E*ﬂ'fﬁmmm.,”,,n Bl e Bk bR T A ! P ikt G e Tt R S BT TR TR

CcoO

India’
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34.

35.

36.

Read the following five statements (A - E)
and answer as asked next to them,

m In Equisetum the female gametophyte
is retained on the parent sporophyte.

(P

In Ginkgo male gametophyte is not
independent.

The sporophyte in Riccia is mare
developed than that in Polytrichim,

&

(D) Sexual reproduction in Volvox is

isogamous.

i

The spores of slime molds lack cell
walls,

How many of the above statements
are correct ? -

{1} One
»f2) Two
;(}/ Three
(4) Four
Which one of the following human organs
is often called the “graveyard” of RBCs ?
(1) Liver
(2) Gall bladder
(3) Kidney
A4) Spleen
~Which one of the following generally acts

as an antagonist to gibberellins ?

(1) 1AA

{2) Zeatin
(3) Ethylene
(4) ABA

14

34.

35.

36.

A= fed 7g o= wel (A - E) FAfGT SR
Sk o ST g1 e €, T A

(a) FHiEer ¥, W@ LERIE R
Fram-zefug o3 = @

(B) %! H T THRIZIWR AT TRl BRI |

(C) Fifaqar =1 SisMv-35fe wiciigeed &
Sty - 3T i TEr ° oy fasfia
Sk d

(D) aicara | fie g7 wagme! gl
T '

(E) TgH Hiesd & samupsd | iy fafa
TEI Bieft |
I Al 0 B fora w@e €2

(1) TF

2

(3)

(4) =X

frorfafaa § | 99 9 @& A8 31 § 59
U9 T & IRl 1 BETE L SR T
ST & 7 |

(1) IFa (V)
(2) fuame

(3) ¥ ()
(4) ren (faecl)

ﬁmﬁf@ﬁﬁ.ﬁaﬁaﬁam@%?ﬁ;w
FUE R F O Fd w@e?

(1) 1AA
(2) “afe
(3) wdie
(4) ABA

‘i -\J:I'I-ul-'lImﬁﬁlmmmiﬁ-!!'ﬂm!ﬁn )

s

T
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. 37. - Tobacco plants resistant t& a nematode
f have been developed by the introduction
of DNA that produced (in the host cells).
' e 2 tDXlC protein
o :
: 4 i f2) bnth sense and anti-sense RNA
-1?'-.
: b (3} . a particular hormone
(4) an antifeedant
38. How many plants in the list given below
1 have marginal placentation ?
& y %
i Mu¥tard, G}am, Tulip, Aspgiagubfﬁrqrr
. S% _.hermnp, Cl‘u’l(h, Colchicine, Qnion,
' M{}@ng, I%ea, Tobacco Luﬁpm
(1) Th1ee
(2) Four
. - &¥3) _Five
e s
39. For its activity, carboxypeptidase
requires : |
: {1) Copper
i {2) +Zinc
(3} Tron
| (@), Niacin
40. The second stage of hydrosere is occupied
: by plants like :
(B " Vallisneria
: (2) Azolla
(3)  Typha
{4) Salix
M[ﬂmmu b " .

37.

38.

39.

40,

B .

TE & GIAFH-Fade el & 55 F DNA-
T - TN R (R el &
i) fFwet s Sva gon ?

(1) T T 9

(2) 31 g ufg-a1edf HI ¥HR FRNA
(3) U= fafre T

(4) TF TRIHRER (iAW)

?ﬁﬁﬂﬁqﬂﬁﬁﬁmﬁﬂ’lﬁaﬁﬁ

wrarg=aTE Ba 8 7

ql, =, ggfem, i, oy, awe, fird,
(1) =

(2) R

@ =

(4) ©

AT FEivam ¥ e weififeds =
foa &} srEvaFm Bt 87

(1) e

(2) ST

(3) <

(4) frefe

SRIRHY ST @l O HEwy ¥ 36 WK

& 98 gy B1d §, 99w
(1) e

(2) qEreT

(3) o@w

(@) @ferr

collegedunia:s
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41.

- 42,

43,

14.

Which one of the following structures is
an organelle within an organelle ?

)

(2) Ribosome
(3)
(4)

Mesosome

Peroxisome

ER

In gobar gas, the maximum amount is that
of :

(1) Carbon dioxide
(2) Butane

#3)  Methane

(4) Propane

The first clinical gene therapy was gwen
for treating

1) Adenosine‘deaminase deficiency
(2) .. Diabetes mellitus

(3) Chicken pox

(4) Rheumatoid arthritis

Which one of the following biomolecules
is correctly characterised ?

(1) Alanine amino acid - Contains
an amino group and an acidic group
anywhere in the molecule

(3 Lecithin - a phosphorylated
glyceride found in cell membrane

(3) Palmitic acid - an unsaturated
fatty acid with 18 carbon atoms

{4) Adenylic acid - adenosine with a

glucose phosphate molecule

e P D g b

41,

42,

43,

44.

ﬁm%r&aaﬂﬁaﬁqxﬁwmmm%
i $imes At £ 7 '

(1) =

(2) IEATEm

(3) Ay

(4) ER
ﬁmﬁuﬁmwwwmﬁ@ﬁ%?
(1) A TEsiTEe

() =xeA \
(3) wi%q ?

(4) I

Te® ggel! &I S fafewn fras smer
& fere < et off?

BRI Tfe

frefafas & 2 fre @ Saom &1 @@
Taferean <t ot €2

(1) T QT oveet - gl u i g
I e 370 % e 5 ot ua et
THE T £ s |
wfafE - ﬁfﬂmfﬂ%ﬁﬁwmﬁm'
U BrEwifag eis
utfes 3 - Uw owigw oW oA
Fores 18 el ey A7 ¥
tshiios o - WRHRA fows
U Tl IR 3] & 8 B

(2)

(3)

o B mn ..m-*glg;luwgﬁmﬁiﬂ-::d- LTI

collegedunia:s
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ik -
AR
45. Green revolution in India occurred
: during :
* (1)  1950’s
- } (P 1960's
- : (3)  1970's
: (4)  1980’s
= 46. Cuscuta is an example of :
-i (1) Endoparasitism
; J2) Ectoparasitism
‘3 - (3) Brood parasitism
(4} Predation
|~ 47. Consider the following four statements |
...~ . . (a-d) and select the option which includes
. : ‘all the correct ones only.
i {a) Single cell Spirulina can produce
large quantities of food rich in
protein, minerals, vitamins etc.
] (b} Body weight-wise the microorganism
| Methylophilus methylotrophus may be
- ,  able to produce several times more
i proteins than the cows per day
1. - {c} Common button mushrooms are a
: very rich source of vitamin C
§ (d}+ A rice variety has been developed
! which is very rich in calcium.
i Options :
CE | 5 5
v ¥ | Statements (a), (b) |
) (2) Statements (c), {(d)
| (3) Stalements (a), (&) and ()
(4) Statements (b), (¢) and {d)
'ﬂ'“‘:_ i b I ' |

45,

40,

47.

ty .-_"Ir L A

B
g7 o gt wifa fee <vm g ot ?
(1) 1950 % eIk |
(2) 1960 F TTH A
(3) 1970 % B¥F H
(4) 1980 % U H

mﬁa(w&%ﬂt{mmwﬁ:

(1)
(2)
(3)
(4)

37 yTSiTemt
EIRCRLEIIEG)
EEESICISHER]
T

frafefad 9 F9 i (a-d) R R =iy
AR Fea st ¥ wu G w fawe

(a) WF WINHIT Sgeensw WA, @i,
feratart anfe @ R WSH =1 <= =3
EIERICCIE TR CE TR S T

(b) 3R E e A qaia Ao
HrrgEidiny wiared 6] %3 A SR

) T &7 FFar & e 1l o wE €1

(c) HHRY g UyEn (i) ﬁ'ﬂﬁ'ﬁf &
1 TF gD A=01 &G

() T CE =ee e fomfaa &t mit @
o $fevmg sga a8

fameu .

(1} =¥ (a). (b)

(2) U (), (d)

(3)  ®E (a), () N (d)

(4) A (b), () I ()

collegedunia:s
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48. How many organisms in the list given | 48, 9 & TE get A fead e @ L -
below are autotrophs ? | o ' '
Lactobacillus, Nostec, Chara, Nitrosomonas, Teetdaey, Swiamfan  dddurfag
Nitrobacler, Streplmyees, Sacharomyces, e ? i : . J J
Trypur;;sama, Porphyra, Wolfia . d - '
(1) Three i e
(2) =R
(2) Four
(3) = ;
(3) Five ' 5 ° ,_
(4)  Six ‘ L. |
L )
49. fr=fefas 9 / wforal =) o =9 @ & Avf
¢ T8 form ue oft atqare &, 9@ aoiw e
49. Which one of the following categories of T 7 -
animals, is correctly described with no
single exception in it ? | . “omoE
(1) @t @it forys 2 € qwn 39 varg
o ¥ F e T SAnEm (Teaee) B
(1) All mammals are viviparous and 5
possess diaphragm for breathing o
| (2) it Ty ¥ wew 20 ¥ wei
(2) All reptiles possess scales, have a o
three chambered heart and are cold T A T A A e (m-a-l E.l_- 'E__III ) - -
blooded (poikilothermal) oA " '
(\3)/ All bony fishes have four pairs of gills (3) = 3|I_E o Hoferl AR e A
and an operculum on each side. T I SR T -TF T98] Tl B
(4) Al sponges are marine and have (4) | w9 Sk gﬁ ¢ T I EHTIE”E ol
; collared cells. T gt F 1
. %
}EI'" ....... B AL BRI S e o H TR b b el v Y ||lﬂl_th"ﬂ,{;;_l-&g".i;:‘_'“'.'

e W

& ! Wlagim om
) . : L i . . e e
o (4‘1 : i i T AT E P T U o S
I : g -
oo ; 2

5 R

]
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e .-'“_:!'".-; e

[RE P

i '.\jg_vs-in- SRR &

™ ¢
T .
» :
i 50. The four sketches (A, B, C and D) given
below, represent four different types of
. animal tissues. Which one of these is
correctly identified in the options given,
; _along with its correct location and
o functidon ?
i
b
4
i
1
b
¥
+
|
b
n:.! .
. "__ .
[
4
: Tissue | Location TFunction
E \ Columnar |_ Secretion and
(1)@} AR Nephron ,
epithelium absorption
“Glandular ) .
()| (B) o Intestine{  Secretion
epithelium ,
F—— Attach skeletal
; e
5 \,ﬁi"(cj' ; 5 Cartilage!  muscles to
2 fibres :
bones
. .| Smooth :
. FHeart
(4A(D),  muscle Fleart |
: contraction
tissue
Aie)
cnupwas 18 B2
&
: . m”""‘-‘h4--'~!=i~-"”“'?~r-----r3r~-=-ea--.u--- e ey -

50.

B

2 4 7e =R 93 (A, B, C 991 D) H, ¥R

yET & SOt S femmg ¥ ) e R R
& H i 62 T fowedi 4 | W€ e
T TS 3T WA W B A w9y v ot ud
fzd my ¥ ?
(A)
(B)
(<)
3
(D)
Cap)
(1)[{A) TE TE FTAE0
(2}| (B) RaEh]
. HaETea 4w w
N
B & e shed ¥
silees et ouit .
oy T W
T R R R LTI BT
collegedunia:s

India’s largest Student Review Platform



B 20

5. Given below is the diagrammatic sketch | 51, 3 oy o T® U HATE f-,;m q 1@_— fafome .
of a certain type of connective tissue.

Identify the parts labelled A, B, C and D, TG S L S TR W Y,
and select the right option about them. B, C N D ifshd WM Far-1 €, 34 fawa 4
- et faweg gfim

Options ;

Part- A| Part-B | Part-C | Part- D R [Er—— o e
Mast | Collagen Macro- e
1 Fib \ -
W cell fibres | TroDast phage (1) - HIAT T | TTHRIF | JEQIEETY]
| Macro- | Collagen
Fibroblast - M ] : LANEL HI
A phage (F0OMBS " e | Mosticel Q){FEevEFy]| dqRRE
: = © HIIET
Mast | Macro- | Collagen _ -
(3) Fibroblast| &2 ' L
cell | phage fibres (3) TEGHETRIY | TR | FHIolor
@) Macro- | Collagen Fibroblast| Mast cell
r ¢ AR
phage | Fbres [ o0 oo AStee (4) | sz wemTyy| FRRE W | o
'52.  Sacred groves are specially useful in : 52. i Iuag favwaa fog wwes & suanit 8

g2 -
\_(}J/ conserving rare and threatened |

species : ; :
(1) gAY T Heraras USiaal &1 gIeqoy |
{2) generating environmental
. awareness (2) Terefla AETEwe e
! (3) preventing soil erosion (3)  TI&T ATEA Wl YHT )
(4) year-round flow of water in rivers (4) Afeai ¥ ad-wed= o w1 g
;'.5--*-WM'W’*"'*--m'-""-v"' N o b e % e b AlRmG e e LT e e T G e i paieeh e it e i SRR AT : ; "ﬂﬁ:""!"
. o [ g e
: 4 ' * e
collegedunia:s
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g
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53

The figure below shows three steps (A,B,C)
. of Polymerase Chain Reaction (PCR),
Select the option giving correct
identification together with what it
represents ?

Region to be amplified

:EE—:EE ds DNA
¢

” 5
B____lillllill;.-.sil v
3.|ai11|1||||1

Optums

MA Annealing with two sets of

primers
(2} B - Denaturation at a temperature
- of about 98°C separating the two
_ DNA strands.
W A - Denaturation at a temperature
of about 50°C
C - Extension in the presence of heat
stable DNA polymerase
54.

Theyrate of formation of new organic
matter by rabbit in a grassland, is called :

)
(2)
, _.r&(-?!’)’/SECGndary productivity
3

Gross primary productivity

Net productivity

'Net primary productivity

(R s T s s

21

B

53.. ﬂ%ﬁﬂmﬁ&ﬁﬁm*ﬁm
(PCR) & 1 =@ (4, B, C) femrd my #)
fr=fafen @ @ f5o wr farw ¥ ww T
=1 e w8 Te= T 22

(1) A-93H F WL F oy e

(2) B- mm?ﬁ"cﬁwwf&w

5@ 9 DNA 9% yus @ |
A-mmsof*c:%‘c‘fmﬁwﬁ;mﬁ

C - asUrdt DNA dieis &t Iuftafs

)
(4)

54, T ow @ o goie go T Mas ged &

T H S F | FGR E?

(1) v=a wufts SEEFar

(2) Y& SeEwA
(3) TEdtas SeEewar

(4) & WufaEw SR

India
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55. W-hiclt one of the following organisms is | 55, fy=fafgs & § frg T s = w8 L EHEC
scl.erthflcally cc{rrecﬂy named, curr.ectl}r MY, S A ¥ sk fedt & SRR
. printed according to the International
Rules of Nomenclature and correctly | FE BTUT I ¢ o o “ﬁmﬁ Ht f
described ? T AR EeT |
(1} E.coli - Full name Entamoeba coli, a (1)  E.coli - QU A Entamoeba colt, {73 :
commonly occurring bacterium in stafeat AT O W ?ﬂ?ﬂ e
human intestine A
(2) M d Th
usca demestica - The common ,
house lizard, a reptile (2) Musca domestica - ST 9 foTwe,
@ Plasmodium falciparum - A protozoan w |
pathogen causing the most serious (3), Plasmodium falciparum - G&" WIS
type of malaria Irerrw fred waifs ‘T‘-ﬂ'{ Edl -2 I
(4) Felis tigris - The Indian tiger, well HARM AR L - S -
protected in Gir forests. ~ .
P (4}  Felis tigris - IRA =19, TR Sl o
et wifa Rfira
56. Which one of the following represents a
i ] i NA ? ; ;
palindromic sequence in DNA * 56. ﬁﬂﬁ‘{ﬁ:ﬁﬁ 4 4 frg W § DNA ¥ ¥R
(% 5'-*%&%(3(3-3’ WWE’WW%?
CTAAG - & (1) 5 ~GATACC-3¥ )
-G.?? ey 3" - CCTAAG -5’
/iAG 5 (2) 5 - GAATTC- 3
3"« CTTAAG - 5 A
53" - CCAATG - 3'
! (3) & -CCAATG -3
‘ 3" - GAATCC-5 3 . GAATCC - 5
Hj\ - CATTAG - 3 (4) 5'-CATTAG- 3
3" - ((EATAAC -5 3" - GATAAC - 5
57, -Vernalisation stimulates flowering in : 57.  STHRIER g0 9o feeed aeita gy ?
(1) Ginger (1} == o = ‘
I (2) Zamikand () siw= e ST
7 (3)  Turmeric | (3) T v | .
{4} Carrot (4) "SR
G e e N R T S WEEE Vgl ! :';;-;,,:.":E:f:.'.':. T T e ----'i'?-lwl_- LR ) *HKWF“WM #
T ) . ; “‘-1“"‘1{' 5 w_* .‘.,
f.j K ; 5 s B | i'.__ o} ﬁ»!#“lﬂ-’.:h-'

collegedunia:s
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L j s
I 23 ‘ | B
F ] f
_58: «Which one of the following statements is | 55. yRren F Ef A Pfrfas da s w1 &
| 'r' "t “correct with respect to immunity ? TR TR E?
(1) Rejection of a kidney graft is the (1) TR VA0 H) A H S B- TR
function of B-lymphocytes FTHE T
b
! - s (2) SER (dow) |9 F e ¥ IR d
¢ -~ {2) . Preformed antibodies need to be 3 o )
; ;\-/ injected to treat the bite by a viper e fiftia {dards (wfafah) s o
J | snake fear s s B
i | (3) Th tibodies against small pox (@) =W F % vfa '
; e antibodi e :
i pathogen are produced by (wfafifel) &1 see T - w8
1 T - lymphocytes T
.
oo , o . @) wfafis (WWeew) dem o9 2R %
¢-.-. »:(4)" Antibodies are protein molecules, & o Bl
: : ) - . each of which has four light chains Fore wedeh  HR- TR o1 g iCIL
4 | €
g " frfafen ar fowedi (1-4) 9 A 59
t 59. Which one of the following sets of items in 5. ) MR _ 1-4) >
R _ the options 1 - 4 are correctly categorised fasea & fd M 7 ), T ATR A Y
% " with one exception in it ? & Aot A T R ?
5
Iy
e L ) AR
; ITEMS CATEGORY | EXCEPTION -
~| CEOFES, |
e, || Bacterial )| fifE ey 3 | fewedifan
i - |(1)| Pneumonia, Jiseases Diphtheria ( ) _
; Diphtheria ” Ferep ol
JAe o0 Lk uaavac, |- | OAA UAG | —_—
k] Stop codons UAG (2) b C T
b PR uca UGA
Kangaroo, Australian (3) j Ll
L (3) gg;iat Sadusals f roma R, IR |G frEd ol
TR, | s
a Plasmodiurm, Protozoan (4) T, A HCRT
: {4) ’/('Harum o 1 - Cuscnta f wrsliah
;:-u -\ 'i'rypm:osamﬂ PARRGSS e
.fq,%wm.m.m i
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60. Which one of the following pairs is
wrongly matched ?

(1) Mustard - Synergids

(& Ginkgo - Archegonia
(3}  Salvinia - Prothallus
{4) Viroids - RNA

61. Which one of the following is a wrong
statement regarding mutations ?

\ﬂ./Change in a single base pair of DNA
does. not cause mutation

(2) Deletion and insertion of base pairs
cause frame-shift mutations

(3) Cancer cclls commonly show
chromosemal aberrations

(4) UV and Gamma rays are mutagens

62. Read the following four statements
(A-D):

(A} Both, photophosphorylation and

-~ oxidative phosphorylation involve

- uphill transport of protons across the
membrane.

(B}, In dicot stems, a new cambium
originates from cells of pericycle at
the time of secondary growth.

(C) Stamens in flowers of Gloriesa and
Petunia are polyandrous.

(D) Symbiotic nitrogen-fixers occur in
~ free-living state also in soil.

How many of the above statements arve
right ?

@ One

. \,(Z(Two

(3) Three
¥) Four

) ! R S T FTUT O R S L A
ﬁ‘%ﬂﬂ%'“ﬂﬂ-';.#.qmmh L RTER - 2 f, :-" -:5‘! - g 4o ' -
ap mame mmm s i deavad L

24

60. fumfafea W % w wr g e e

61.

62.

T g

(1)  &Ei - e Hiforammd

(2) fo®i- wiwfEr

(3) @eafm-wdew L,

(4) @TEUEEH-RNA

e & g o Frafafga ¥ @ S w

UF Fed TAd § 7

(1) DNAF 3Fd U & 99 S & 7iad=
B0 A geafere 4 g § 1

(2) avah?f%ﬁammﬁ%aﬁ@-

(3) =R Ffwrel § W G §
farqerT gen 2@ s 21

(4) UV au1 A fave sefader g E

frefafia = et (A - D) %1 ofu: -

(A) WIAwTRIER ﬂﬂiﬂ.-. azfaj}q?%ﬁa'
FORITENA, 25 5 #er ¥ 3R IR NN
F1 ATAIeg SO B B

(B) g storast ol # % Qe ftae gfg &
g 9l 7 Fiftrmei @ @ 2

(C) Tekisnar am gl & qoif § g

YT ER « L oms

(D) esiien Tegiem AR T

araeen d o 9 9R ¥
ITH FUA H RS 9w wR@ T2
(1) T
2 @
@ S
@ .

s o mfed LRichatiien e :'n-;,i'..'.f-'u‘ [T RPN T :x- RPN L umid g .
. o W Tl T e Lt
LI T L I - i‘n ‘ij...i@f‘l
I P e Lak . B
[ ]
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63.

64.

Where  do  certain  symbiotic
microorganisms normally occur in human
body ?
(1} Duodenum

' A2y Caecum
(3)  Oral lining and tongue surface
(4) Vermiform appendix and rectum |
The secretory phase in the human

menstrial cycle is also called :

\}‘l/f follicular phase and lasts for about

13 days |
'(2) luteal phase and lasts for about 6
days
(3) follicular phase lasting for about 6
days
(4} luteal phase and lasts for about 13
+ days
65. Biolistics (gene-gun) is suitable for :
(1} DNA finger printing
(2}  Disarming pathogen vectors
437" Transformation of plant cells
©oTay Cnnstrliléli.ng recombinant DNA by

66.

II (4) adrenal

joining with vectors

-

A fall in glomerular filtration rate (GFR)
m.twates

(1) posterior
vasopressin

pituitary " to releasc
(2}/1 juxta glomerular cells to release renin
(3} adrenal cortex to release aldosterone

medulla 1o release

adrenaline

25

63.

04,

65,

66,

msﬁrﬁww%ﬁ’fﬁmﬁam
Fel By S ¥ 2

(1) et (geEhm) 3§

(2) SR (Hew) |

(3) @ TE % TR A Y ®) Waw W
(4) FUEY qfEfysr 9o weme §

e RS- O gradt SR arel maor wEe

! T 7% W o few s € wF % faad
el wer wet 82

(1) ER TR, & 13 A @
) dafte gz, wmym 6 fav w

(3) Y wiawRy, @nvi 6 &7 @
)

W(WW)WWW
27

(1) DNAﬁmfg'ﬁm _
(2) THR Hareh! F iR wom
(3) URY HifTHe w1 IR

(4) waEH F WA AgH I DNA
EakEicif

Testa M@igT R (GFR) ¥ e snd w
g wfwae da &7

(1) wea frged (dw) 1 ofs s
Ff frad

(2) B s B W afs s®
I st

(3) Fr i (fEs Tope) Hakn
3HY FeeRelA fasd

(4)  Ugee dgan (Al weaiw) w1t
Y T fred

T !=|f'3l‘=""||ll!|'ﬂﬂ' f

rafdg yrawen, v 13 57 o 9 9
\ ¥
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67. - Represented below is the inheritance | g7, 3 f23 w1 @ ey ﬁﬁ‘;qn'[ H 9l °
' trai ' . .
pattern of a :Eertaln type of ralts‘ in I AT T W TR i) (390) w
humans. Which one of the following , . s
conditions could be an example of this awmnfa wfews awig v 81w fa
pattern ? frfafaa @ 9 & w6 ow 2 ==
TR 1 T ZRT T WHA § 2
FEMALE | MALE
MOTHER | FATHER
Daughter|  Son
(1) Thalassemia \
(2) Phenylketonuria
(3) Sickle cell anaemia
(¢ Haemophilia
68. Which one of the following cellular parts | 8- MEAfEE § ¥ B W O RIEE W
is correctly described ? & goi favar w2
(1) Lysosomes - optimally active at a pH (1) EIEEERE - §197 8.5 pH W it
of about 8.5 qfwy
(2) Thylakoids - flattened membranous (2) UTgeihiseH - T9e Tereeien d& o wEn
sacs forming the grana of frere s & 3 o ¥
chloroplasts
. (3) dfeaicn (as &g) - 99 RNA
(3) Centrmlles - sites for active RNA HIAT F T
synthesis o
&l i ; e L (4) TN - SRR TR A wE -
. ibosomes - those on chloroplasts are ; ; |
larger (80s) while those in the (80s) % en T H A AR e
cytoplasm are smaller (70s) (70s) % Bd 2|
Mnmlmaw LL EERNLT IF=Rr TR ”':"..rf *--_"f::':'_:'i{fg!---t-v_‘ﬂ—-w--' e T B "-"--‘.‘.'.:z.l-wa-\t---'..kfj‘.n'!'i'ilv.Ii-I-J-HﬂilI:-i-n i Irauili.jililiiiiiﬂijdﬁugihmm ; o e :
e S : : S L T bt
gcollegedunlaa
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the correct categorisation of six animals F I TYY-979Y YR & e wn 99

according to the type of nitrogenous

i 69; Which one of the following options gives | go, frafafad ¥ @ 59 & faoww A o wimE)

wastes (A, B, C), they give out 7 LTSt STITe (A, B, C) ¥ SIER W~
. Qe A o T § ?
4
?' A
h AMMONG UREOFTELIC URICSTELIC : ; : ¢
| TELIC : suhfram 3astt | gitan st | gites aner et
;
: Aquatic | Cockroach, | Frog, Pigeon, | tew
| (1) S , » PERY,
Amphibia Humans Lizards 1} | == gERifaa Eh‘ﬁi’ra, qHA :
| (1} —
@) Pigeon, ' A?n?l?i::a Cockroach,
Humans ! Frog steirg Yenifaa,
. Lizards 2)| AL, UEY . TS, WeE
- el oo _
i 3 Frog, x CIU:‘E;I Cockroach, '
I I | i rfe |
| (3) | Hewm, fovmfoa FIHUA, B
| 4 /Pyatic Frog, Pigeon, Lizards,
4 N L‘}a mphibia | Humans Cockroach s
N & .
i (4) | Seitg Wpitaan | Hew, 74 X i
ﬂ
1
|
)

70. Which one of the following characteristics
" is common both in humans and adult

Pl | 70. Frefafas ¥ | 9 99 W T s 3 0 9
) g E AN TIEE AEH), A W THM TG A1 # 7

-/f}/_;,Ureutelic: mode of excretion

(1) gfear sarft fafly =1 sty

= o L] il
L T T A e e e e s

(2)  Four - chambered heart

j (2) =R-wafiy g
% : . -
Sy
& (3) Internal fertilisation (3) gl fre=s
| (4) Nucleated RBCs (4) Hlha T T HITHY
Lo
...?.‘_i'.' by,
e D,
g : U TR TR IS 1 0B LS00 T 3000 L Ll VR A b TS R A RS I N D
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71,

Identify the human developmental stage
shown below as well as the related right
place of its occurrence in a normal
pregnant woman, and select the right

option for the two together,

Developmental Site of occurrence
stage _
8 - celled Starting point of
; w morula Fallopian tube
iddl
(2} Late morula M f.-part ot
Fallopian tube
End part of
3 Blastul
) astia Fallopian tube
{(4)| Blastocyst Uterine wall

- 72,

What is the function of germ pﬁre ?

{1} Release of male gametes

(2) Emergence of radicle

(3) Absorption of water for seed
germination

(4) Afitiation of pollen tube

(2)
(3)

M [T HETHP e RS TRt RSP
ol

L T e

@) For its action, nitrogenase requires :

<9 Super oxygen radicals

High input of energy

Light

B

28

71.

F et et 1 afa sveres = T
T gU A Y WY OE W ket ot
o o STEe sl urE o) €, 53 9 ) u

Wy 59 v fawey o ot w9

T W T T
a5 8 - wifyrTy tea Tt =Tferem % SRy
() * fag

ShelTd =i ¥ W |
2)| 916 F1 HIE A e o
(2) (qe) # i
e ST & wfam
(3)|  =mEen (Fv%) o
Pt |
(4) | =Rfawe (FRwFgA) | vk fafg &

72. S-fsewmsnsd aqid?

73, ArEiWAN % fwar % ﬁ-nz 31'4‘ fwrast

(1) ??W’wzimazﬁ%m
(2) HETH F e

(3) Siiigo ¥ @ F SawHw
(4)

TS Bl &7

AT FfeeRT T Wadq - -

(1) W e Hewmew
(2) St w1 = A

| (3) W=
(4) Mn2*t

]

1 '
ror o A R ey =
BT o T 0
i, R, R L ;

-

Fab e bt e T b wnrwww#ﬁﬁ; 5
.o BRI
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L3 g
e b g SRR TR T I
Lt :

b e T TG e

. ]
S AR e mrAr e —— e BB R -

. qu-uu.n-.fl--.-ur- L Tl

L RS R T
: £

- 74.  In genetic engineering, the antibiotics are

used :

(1) to keep the cultures free of infection

| ﬂ ~as selectable markers

- (3) to select healthy vectors

(4) as sequences from where replication
starts

75. -,Thrnugh théir effect on plant growth

. regulators, what do the temperature and
light control in the plants ?

(1)  Fruit elongation

(2) Apical dominance

" (3 Flowering

(@Y Closure of stomata

76. What is it that forms the basis of DNA
_Fingerprinting ?

Mtellite DNA occurring as highly
’ repeated short DNA segments

-
s
4=

(2) The relative proportions of purines
and pyrimidines in DNA

"~ (3) The relative difference in the DNA
"7 - occurrence in blood, skin and saliva

. {4) The relative amount of DNA in the
ridges and grooves of the
fingerprints.

29

74,

5y

76.

B

ST Ao § Seaifeas &1 3w
fag oy fera s 22

(1) da4 &) HhHo-Wed -9 @)
(2) =9 Y faEel % €9 H |
(3) @ HawgH F gTi A |

(4) UR IrTemwl ¥ wY § wel @ whghem
WY B 2 -

T i el ot gutied w3, T e
mﬁ%ﬁﬁwﬁqﬁam%?

(1) ®&l o1 i

(2)  ¥irerey yurfeay

(3) I

(4) I wrEg @

9% F41 919 ® < DNA fhmfdfen = snur

Bt R?

(1) STeT DNA S stfa grEfda 8 g
o DNA @vel & ®9 H 21 931 Sl
Bl

(2) DNA ¥ HiSg il g weifad= ¥
FTUF T

(3) &, = 9 @R A faEIE DNA #
CEIEE A

(4) Hfer ol ¥ wewl qen wiEl A DNA
F1 STuIfas WO
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77. . Select the correct
biodiversity .

statlemenl aboul

(1} Conservation of biodiversity is just a
fad pursued bv the develeped
countries.

(2) The desert areas of Rajasthan and
"~ Gujarat have a very high level of
desert animal species as well as
. numerous rare animals.

3)

Large scale planting of Bt cotton has |
no adverse effect on biodiversity.

(4),~ Western Ghats have a very high

degree of species richness and
endemism,

78. The domestic sewage in large cities :

(1) has v.ery high amounts of suspended
solids and dissolved salts

(2) has a high BOD as it contains bath
aerobic and anaerobic bacteria

M processed by aerobic and then

anaerobic bacteria in the secondary

treatment in Sewage Treatment
Plants (STPs)

¢ o m—

(4) When treated in 5TPs does not really
require the aeration step as the
sewage contains adequate oxygen.

“
et e o 5 I B o F. G R e e et g

._-q,......_- ——

i.l.“. _'_I.: : "'.'3.,' T . .
e

mrmprmas s il : i

77.  Safatasa & fEuy § |8 wea =g

(1) Safefavm s dem fwfem o =
T T 95 ¢

(2) © TEAA AT ORI F WO & H
we A T A e fave woht of wrd
S E |

(3)  BLETHE F T HEH I MY TH
7, ﬁaﬁﬁwmﬁéﬁwaﬁ KESi

(4) mﬁmﬁma@mﬁﬁuvﬁsﬁw

T ol e g WY et g
et B

78, 92 wel § e TN ;

iy

(1) nﬁﬁhﬁa‘mwﬂéwﬁﬁa@'

rferes = 2 B

(2) ¥ 991 BOD Tt ¢ i g9 =gty
AN SAPIEA B YHR & Se1a g
10 |

(3) A1, Hele ¢*mltﬂ"€!">l"f(5“l"f55}ﬁ'%'cfm
ITER H, 9gd O Igary i g
d IGF G HAAEgEa AEiid gr
JERHYT HIFT ST B |

@) i STPs ¥ FTaE FO, W Ared ¥
e | wata ot A R

" : i L I L ot
|

i ' L . '.""_l-..l

g

T

B e lhﬁmmw!rh bi! a._;
s e f i !q...

"% L .H’., Tapa
1

W dem o Tae

r .
.--|
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- 80 Read the foIlowmg fom staterments

g

bl

e e U PR - Ui, 2
'
-

R B A S e R SRR S5 i
3

AR | e PV P T R M O T T 14 B LEEV L AT iy e e o e 17143 AMME2E e

TS | ‘r " o

31

@ Piants with ovaries having only dne or a
T few ovules, ar¢ generally pollinated by

(1) . ..Wmd
(2} Bees

(3) Butterflies

(4) Birds

Fl

(A-D):

“XA) " Colostrum is recommended for the
new born because it is rich in
antigens.

Chikengunya is caused by a Gram
‘negative bacterium.

(€L Tissue culture has proved useful in
" obtaining virus-free plants.

(D) Beer is manufactured by distilla'tinn
of fermented grape juice.

How many of the above statements are
wrong ?

W One

(2) Twn}/
(3) Threc
(:1) Four

.. “The supportive skeletal structyres in the
~ human external ears and in the nose tip
are examples of :

<A
(2) ligament

cartilage

(3} areolar tissue

"(4) "bone

+
giWimmw Tt Aus . i s 1 g wrmees
el |
g "

79.

80.

81.

Ak LR,

B |

mﬁtﬁﬁﬁﬂ%ﬁwﬁﬁ'éﬁa@mm
e 4 & diare o sm ¥ wer S
fore: gra g 22

1) =g

(2) wymigEE

(3) faafaat

(4) & oy

Fr=tafed =) %ol (A - D) 7t 9fed

(A) AT R 1 Hrefegs (o)
fer foerman s anfee wifs sesl e
TR A A U 9w ¥

(B)  TeTIRH v ym- fritfes shamy S g
B |

(C) 0F Y IRRA-Ted 98 wa 56
4 wnvEEs fag gen #1

(D) < %1 3o fafrem R @ &
A FI T = &4

SR FoA  frad Feaw e §7

1) =

(2 =

(3) dv

(4) =W

Al F A S qw A F o o =l

A HFHTEA! HAG s e § 2

(1) Iy

(2) ¥mg

(3) wEEE Faw

(4) ¥y

collegedunia:s

India’s largest Student Review Platform




S i ,

B

82.

83.

84.

e ke $32 Ha T P 1 ; e e T et A ER R ]

b o

As compared to a dicot root, a monocot
root has :

(1) Relatively thicker periderm
(2) More abundant secondary xylem
J3Y~ Many xylem bundles

(4) Inconspicuous annual rings

Which one of the following organisms is
correctly matched with its three
characteristics ?

{ Maize : C; pathway, Closed vascular
bundles, Scutelium

(2) Pea : C; pathway, Endospermic
seed, Vexillary aestivation

\(M omato ; Twisted aestivation, Axile
placentation, Berry

¢ Cnion : Bulb, Imbricate aestivation,
Axile placentation

Which one of the following pairs of
chemical substances, is correctly
categorised ?

(1) Secretin and rhodopsin -
Polypeptide hormones

(2} Calcitonin and thymosin - Thyroid
hormones

(3) Pepsin and prolactin - Two digestive
enzvmes secreted in stomach

M,}/Troponin and myosin - Complex
proteins in striated muscles

32

ot b

82, ﬁ;aﬁwﬁtgaaﬁwﬁ,mtﬂﬁngﬁ

T T I R 7
(1) serda Ot gftad
2) fedas & = fus g
@)Wwwwl

(4) oo aifts a@wm

83, ﬁmﬁaﬁaaﬁﬂmwﬁm@mmﬁm
ﬁﬁrwaﬁ%?maaaﬁrfmw%?

(1) R : Cy I, aat{aﬂfwgm @é-m

(2) W C, TUWH, YO #i91, Afeger)
= fa=rg

(3) IHRY : aEfdd € faT, € Wia
- e, 90

(4) TS e, PRSI T o, Wi
CiE e '

g84. Trofafgs § 4 fF & S & WA
weral @ W i fEm T R 2 |

(1) THhfed gu YSH - ﬁi?-ﬂfrtas%’ B
2y  Ffeweifm aur agAife - 0T

(3ragde) & B
(3) Ul qun AR - STHRT L 'E-Hﬁﬂ
| 2w & e tlrrnst[
(4)  PYAfE gon AR - ‘{ﬁaaﬂﬁm‘rﬁm
S T WY W
e s _T,.M.:_,,;;E.,,_,,...:.:; “-,Lﬂ?..q...,m ..-:I,.g:“::w; I:- ; ;
., | : e o o : },,,‘-r,;& .;‘"“"‘-‘
o F ot o 0 Pl “*‘”""’.“‘ e

&

T
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33 g
85. Identify th | I o |
85. entify the molecules (a) and (b) shown fegm |
below and select the right option giving 4 N3 syl (2) 91 (b) ! vt
their source and use. T ST A TS 39 ¥ fovwg wd ey
: T |
»CH,
(a)
(b)
%
Options :
Hq_ﬂ‘q 'FOITF'«T :
| | Molecule | Source Use | .
.; Sedative
(1) Morphine Papaver : '
.i#f__,-r-’;a’) OrPI ne sommiferumm and pain 3707 i Iam
killer 9
o O | Accelerates (1}~ {a) vTmTy S
fp ey ﬁ (a) Cocaine Eryfhraxyh;m tra;::ort ' -
- coca | K e
- of : *
o dopamine (2}] (a) ®1FH TR R & &
FIFE | A o
Depressant &
(3) (b) Heroin Cannabis and slows %I
sativa down body R E G 12 %{E
: functions 3)| (b) K Rl R A gy
i -Prnduccs ahilkl
: {4) (b} Cannabinoid x’Hmpr.‘ , )
i RINOI  liadene | Dallucina- (@) (b) Fiftee Gt (P & |
: lions i JonE t
TS e, o s s el L
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86. Identify the meiotic stage in which the | g6, a7 Fi W Sy stereen A § fRnd e
homologous chromosomes separate while S :
the sister chromatids remain associated at o . (T W w N T4 %‘fiﬂﬁ 2
their centromeres : ¢ o fop e AR (STH-TIIE) ST TORA
14 Anaphase 1l

1 RERICIS IR
(2) Metaphase 1 L

(2) HeTEER |
Metaphase 1

(3) HeAmre il
)\)Anaphase 1

(4) Y |

87.) Which one of the following statements is

wrong ? g7. frmfafad # $1 @ TF Fu AL

Intine is made up of ellulose and (1)  &fa: = Wegeist qul e &= g
pectin 4 e
When pollen is shed at two- ed (2) =& W APCAIEED st 3§ smfn%?i’i

( stage, double fertilization does not | T~ P e B -
take place. |

@) adl S, ST it @ wfus T
y Vegetative cell is larger than
. . e

generative cell.

Wﬂllen grains in some plants remai (4) T U F W & ﬁuﬁ T qE
~ viable for months. / St 9 @ ¥ o |

88, The idea of mutations was brought forth 88. W (Seaiadni) Y foRum & e

by : WA fawa an?
1_ (1) Charles Darwin, who observed a 1) =ved gifeq, fow o §qg o &
' wide variety of organisms during sea A |l 1 ant fafawa 3@ ofl |
’ voyage |
\u/ _ (2) T E I, wmmﬁm,_ '
i | 2 Hugfr do Tu’rms, who worked on T e o1 .
s evening primrose
3 3 ew, e vaT SEEAT T
4 (3) Gregor Mendel, who worked on (3 WM
Pisum sativm fean
. (4) Hardy Weinberg, who worked on (4) ﬂﬁ"ﬁﬂ'ﬁ‘*: gt Tt & s T
: ) allele frequencies in a population ARETE I w1 TR a1l

@y e et e T AT d s ga v of braetim e WSS R e L AT TR LT R e S L B Gl bty

o

vy ¥
BRI F RSN R s
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33., Read the following four statements

W . e PR
i gy :_, - m._r.“ [ = e e e o B
i 4 T T :
- Pt i

;
|

491, - Two metallic spheres of radii 1 cm and
.7 3 cm are given charges of ~1x10-2 C

E
!
:
éﬂ.
I
.
q
i

A) In transcription, adenosine pairs
with uracil.

%Regulaﬁcn ot lac operon by repressor
is referred to as positive regulation.

(C) The human genome

approximately 50,000 gencs.
| .- {D)* ‘Haemophilia is a sex-linked recessive
; disease.

has

How many of the above statements are

right ?

(1) One

(2) Two

I»\ﬁ')f Three

. (4)- Four

30. Which one of the following pairs of

animals are similar to each other

pertaining to the feature

them ?

(1} Sea horse and Flying fish - Cold
blooded (poikilothermat)

M(,z)/ Pteropus and Ornithorhyncus -
- Viviparity

stated against

(3)  Garden lizard and Crocodile - Three
chambered heart

{4)

Ascaris and Ancylostoma - Metameric
segmentation

-,

and 5x10-2C, respectively. If these are
connected by a cunducting wire, the final

~ charge on the bigger sphere is :
C-1x10-2 C VIEIRY
(2) 2=10" 2 Qv
B < VL X
. {8) 3x10-2¢C AN

T ) ax10-2C %

-

35

. B

89. ﬁﬂﬁﬁ'ﬂ“@ﬂ’ﬂﬂ&fﬂ‘ﬁ(A-D}HﬁqﬁQ:-

20.

9L,

(1)
&
g

(A) Erafewm (arqdtea) ¥ wetie
Qe % Wy ey s 3

(B) TAW EWI lac 31T & Frgwg =)
¥eae fram oy §

(C) A= MW A e 50, 000 w7 23 &

(D) g U ffn-wger syt i
&

SR YA F fre su9 wh ¥

(1) T=

2

(3)

(4) =W

ﬁ%@aﬂﬁm@ﬁ%%aﬁmm

mﬁﬂnﬁm%ﬁwﬁ‘wl@i%mm

g2

(1) W%ammww?ﬁa@aa@
(ST e ve

(2) 9E AN HFRREG - gEyE

(3) W fowwel (PRMe) T gmmss -

e et ,
() THRY A eEmoIEE - faae
GEhar
\."'qmo"‘
lcm?liﬂi'}cmﬁmﬁﬁ‘ﬂ'@aiﬁﬂ?l’fﬁ
FAA -1x1072C AWM Ex10-2 C sy
fear man e, T TF TmE R Q Hie
e s 1, 92 et W sitEm sy g

: . *
1x10~2 C 5‘-9@%-«,)( A
3 _-2:{-. = U ]& —
2x1072°C Re= .
3x10-2C Ny, ,}\J
(4) 4x10"2C Qa
. SRR e "t
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92.

93.

94.

Sy g

kB b i P
= - — ]

36

A

A proton carrying 1 MeV kinetic energy is
moving in 2 dircular path of radius R in
uniform magnetic field. What should be
the energy of an & particle to describe a

circle of 5ame radius in the same field ?
1) 4 MeV E‘ﬁ?*ff @gqq
(2) 2MeV ~ oS
| J‘é B
4) 0.5 MeV 221

A circular platform is mounted on 2
frictionless vertical axle. Its radius
R=2.m and its moment of inertia aboul
the axle is 200 kg m2. It is initially at rest.
A 50 kg man stands on the edge of the
platform and begins to walk along the
edge at the speed of 1ms ™~ ! relative to the
ground. Time takén by the man 1o
complete one revolution is :

oy 1P
By o opf
(2) ws
3w
@ 5
(4) 2ms

The ratio of amplitude of magnetic field to
the amplitude of electric field for an
electromagnetic wave propagating 1in
vacuum is equal to

(1) unity
) e speed of light in vacuum
(3) reciprocal of speed of light in vacuum

(4)

the ratio of magnetic permeability to
the electric susceptibility of vacuum

ERTRPE (TIFTRC RPN Y L Ny e T

o Hlbe

He

93.

ifa tr

n

L i A AN Mool N

92, Wﬁﬁwaﬁmmm@f% ?ﬁ{%&ﬁ

0w THE GHEE 23 d R = &% g 9
ﬁ’ﬁﬂm%i ?ﬁ,ﬁ@ﬁa-wﬁm
St 20 fed e ag SE & o S B

¥ vy § 7ifa TR ? "
(1) 4 MeV

(2) 2 MeV

(3) 1 MeV

(@) 05 MeV

I!EWWWWRT%’HWETHI@W
Fram %1 ¥ WA W A R =2 mB AR
wge areEl 200 kg 2 31 YHM H TE |
Fererareen § %1 50 kg, TN B T K
mﬁ%ﬁw&wwﬁm%ﬁﬁﬁﬂﬁ—
fegmy (3T &~w%wﬂ&nmr1$ﬁﬂ
A o Y HT ¥ @, W S a0 T

T 0 FA T W B

1 s

(2) =8
37

3) 38

4) 2ws

o Frafa § wefa fad gy TR T F

%ﬁ,g@maméqaﬁ%.mmw

'ﬁ!‘d’%

(1) &

) Fraa H e % 3 F WA

(3) ﬁahﬁm%&n'-ﬁawtm

4) ﬁa&aﬁg@wmg@mﬁm
oq1 g e (e yaf) % g
F T |

e U . - vty At '-I'h;rli u'*,:-‘,ra. %”:"n i
o i R : s [ E T iy
B TR i

! b P MR HETORC
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| 37 LB
:95.:_ A magneticﬁneedle suspended paralle] to 95. feu THHIT O wmm
< 'a magnet iel ; W
| = gnetic fie d‘requlres V3] of work o q¥ w1 gge qurd ¥ a9 Blwe 3
| - turn it through 60°. The torque needed to SU— | -ﬁ' | ;
. < . maintain the needle in this position will il @, 7 'g%ﬂ%ﬂ:ﬁ q
<o ber o e | STIYTH a7 (&
... - be S g o g N TR W@ ¥ ford -3 (2FeF)
s rf\_ . _awod BT = g | o
@ 3 WY b 4
b\}iﬁq}'\j (1) 27
) 23] A
(2) 243
B3 % L Bl
4) V3] /w o
. 3
gy ORIV
A £l
L ih Fod of length 10 cm Jies along the | g4 10 e w7t U 3 1, 10 em BEY o &
PrIcipal axis of a concaye mirror of focal AT S ' '
o length 10 cm in such a way that jts end & T ‘“.EH % T ™
y_ closer to the pole is 20 CM away from the TR Y@ T tf o I gy % ‘ijﬁ &
L mirTor. The length of the image s ; T T, TR 20 e T 1 9, e 53
s | (1) 5 | TS B - "
i[‘; 2) 10em - } ’5 _ (1) 5em '
B) 15 e S v (2) 10 cm
W0 .
(4) 25 cm B} 15 em
(4) 25 cm
The moment of inertia of a uniform circular e ws g ERilE g re=> Tt
disc s maximum about ap axis e i ( ) W WEw
.:Perpendiculai: O the disc and passing 3"?1 Stfemay g qﬁ, ‘Fh-@f&T @W C oy
& :
i /
: (1)
i 2)
) (3) C4 s
@ 4) D@ ¥mn
i -E‘_::‘ ..I.uj' . i e L ;
W‘hﬂ - Lt ud
M T :
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| e o
: ,
: A B c A RYC N A B C
i o 1 0 Py ay o 1 0
2 1 0 0 m 1 0 0
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Which one of the following plots
represents the variation of gravitational
field on a particle with distance ¥ due to a
thin spherical shell of radius R ? (ris
measured from the centre of the spherical

Frifer TR (eTerEl) § W PR W AE R
ﬁmﬁ%ﬁvﬁmaﬁm%ﬁﬁwm"
W%wqﬂrﬁ?mﬂqﬁaﬁ?m%?
(rwmwm%ﬁﬁww%)

shell.) 1
(1) F ) ﬁ(ﬂ‘i\/ e
IS
@) At B v

") 3 ‘
F
o | N
Od__R_H_ *T
@)
—‘_I'

99, To get an output Y=1in given circuit | 99. faw e afwgy # frhm Y=1 9| F
which of the following input will be Wﬁm‘%ﬁﬂﬁﬁﬁﬂmﬁﬁﬁﬂmﬂﬁm ;

correct -

; M::D"L.
C }Y - c T

g |
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100, The equation of a s ' B
: e Imple harmoni
s i T wAve | 100, et e s win v e
- L . % 2
: - 3!—3_51n“5(50t—-x), Ci 80 O (_E - y=3 sin*g (50t—x) &
N e IWhEI'E X and v are i .‘ _ T - i
. te :secunds: 'I‘he}i*ahﬂ Ior} Ezziiuaﬂd t Is:, in STEla HﬂﬁytﬁETffarﬂ‘{tﬂE@rﬁ%I r-h" Afwag
_ velocity to the-wavey Ocity; 15--:m SR - o -4 o SRLICEL '
i R 5
= 5 1y = 5
(1) 3 éw{ = 1?\2? (1) 5T SR,
(2) 2% < % ﬁ’{é’{. SN (2) 27 oo AN o
3 Ty ©
N N Y @ 3= F o=wb
L oy 4) 3w %"ﬁ? (4) 3w
101 A ' :
! :; p:"z:all,%.l platE, Capacitor has a uniform 101, 5 e e Ffly Q) @ ¥ CIL|
| . lec ric field E in the space between the U 59 fogm ox &1 am ¢ 81 ufe g
!' p ates, If the distance between the lat Q) i ¥ g N
, s d and area of each plate is A, the ege Y e I d AT TS R
| | ?;Gred in the capacitor is : ‘2_.- l’g}’% ;ﬂm AR a, qyifey ¥ §fag F HT M
ﬁ o ) e,EAd E":"'"\'" U e io! o ; < G:,\\V
| == : 1 RV E EAC[ = -
'i" () Se,E? E o : ° by Q-
Q o \ G?‘/\d Je g’“?: @) ¢ g2 S <
E‘ (3) E2Ad/e, -:;.-ﬂ—-“**qj T 2 ol “ J
Tk - -
! 1 L -J—-E:’" (3) E2Ad/s C
: & 5 eEAd T KF I / o> 9’:
y
4] —g g2
}1.. 36 i s Eth fhiuf? er dissipated in the'circuit shown > |
™ re
L e L @%“3.‘ The value of R | 102 1% ¥ <0l 73 <fevm # s 4 30 e 8
g, ~ A RF AT E . L
R
T e s | e W
7S . 5 —
50 - f A —— r L
! [OR- 50 1 v
- S 10V L‘h“f*‘—'“‘*“ 9
C 10 V T .
M 300 Sk 0 M %
a (3) 150 (2) 200 { O @)
i (4 (3) 150 — 30
| S 4) 100 SR
' E’ E SO0t OO = (3o R ke
'i e S R AR

-

]
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103. If v, is escape velocity and &, s arbitil
velocity of a satellite for orbit close to the
earth’s surface, then these are related by :

va)/ V.= J2 7,

(2} v,= 27,
(3) V,=0e
@) 1=\,

104. A stoneis dropped from a height h. It hits

the ground with a certain momentum B
If the same stone is dropped from a height
100% more than the previous height, the
momentum when it hits the ground will

change by :
1) 100%

() 68%

(3) 41%

\w/m%

105. An ideal gas goes from state A o state B
wia three different processes as indicated
in the P - V diagram :

A
W

P 5

Ve—

If Qy, Qy Qj indicate the heat absorbed by
the gas along the three processes and
AU, AU,, AU, indicate the change in
internal energy along the three processes
respectively, then !

(1) Q3>Q,>Qq and AU >AU,>4AU,
(3) Qy>Qy»Q and AU, =4U,= AU,
@) Q;=Q;=Q; and AU>AU>AU,

=i 4w 0 - ol -
L - e T T PR SIS FPTTR={| FY P U Mg

o,

(J

40

103, A o s A @ A 9o Fre A we
¥ gfemol R fog s 1w o 8
A, ST |1 T Ul _ 4
(1) ve=+27 )
(2) vo,= 27, :
(3) P, =Ty
(4)  v,= f2u,

104. qa?n"cmﬁhhré@ﬁr{rmwﬁ%r aeET
P A ¥-ad ¥ THA ofe Tl TR W, W
e A 100% afas S | Frew A @ ’
Wooe @ ZFR §9E W WA § ufad
- ¢
() 100% |
(2) 68% ;
(3) 41% o
(4) 200% ,

105, fe@m M P .V 3@ F ITEN, TH AW AW
) = fafiusr werdl gra feafa A © freafa B 5
& TrE S R ;

T A !
1 L
Pl & * . :
3B A
. —

V__h '
gfe 39 99 YR o, SRy F™ FEn
Q,, Q, i Qsaﬂ'«: At et A uitEo
AU, AU, ST AU, BT & - o
(1) Qy>Q>Q, T AU>AU>AU; - &
(2} Q>Q,>Q, T AU, =AU, = AU,

3)  Qu>Qu>Q, T AU =AU, =8U;

(4)  Q,=Q,=0Q, 91 AU >AU>AU;
‘.
4
p..

U e B D R oo e ; o ) ;:"
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- 106, Two radiations of photons energies 1 eV
E 0 and 25 eV, Successively illuminate 3
B TR pHotosehsitive metallic surface of work

“function 0.5 eV. The ratio of the maximum
-+, Speeds of the emitted electrons is ;

J\
2 'L\j-h"’h*
b oo =

) S

(1) 1:5
14

_&\
o | | - .y 1
YR y"" Y
1 - K - ltw:h .\um\ -‘.__:-:ﬁi
<~ =4
For the angle of minimum deviation of g

Prism to be equal to jts refracting angle,
the prism must be made of a material

", . whose refractive index :
s S ~ w1y J __E_,
- . &

(1} cﬁ’}-;"? -

6o-
(3)  lies between 2 and /5 _ CJJ —-]ﬁ%

Is greater than 2

(2) lies between J2 and 1

15 less than 1

'.'*: (4)

108, If the momentum of an electron is changed

B

106. 599: 1 eV a9 2.5 oy Zraf ¥ Breir-fafy

U % A T, et vt (d3d) gy
! 9w w3 F TS TS wem o5 ey
2 M, 1 < ¥ et seag ) arfias
ST T ST B

(1) 1:5
(2) 1:4
3) 1:2
4) 1:1

&ﬁsﬁﬁ'ﬁ%#ﬁnﬁpﬁqﬁaﬁmﬁw

by P, then the de Broglie wavelength | 108.
. associated with it changes by 0.5%:2.The T WY -l qrdeg 0.5% qfafda @
t Initial momentam of electmn'w{ﬂi"by} st &1 @ g@fa@‘qaﬂmﬁwﬁanm:
(1) 1do p CAnsme = A (1) 100p A= K
g 4 : . 1 AL rj
200 P 2) 200 P A0 = K
s A= =
400 p fs A S (3) 400 P bx1085 = NAo0
) A[P“ﬂ n I ;ﬁ Fore
w2 ] ok e
TR lOOK = [®S
kL . ?“‘\-.__(OO
M o~
P xioe 2= X33
“Loe- \ (a0
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109. ‘Three masses are placed on the Y-aXis
300 g at origin, 500 g at y=40 cm and
400 g at x=70 cm. The distance of the
centre af mass from Lhe origin is

(1) 30 cm !
Lo

(3) 45 cm 2o 40

{4y 50 em

110. A car of mass m is moving on a level
circular track of radius R. If p represents
the static friction between the road and
tyres of the car, the maximum speed of the
car in circular motion-s given by

(Lt Ry 2.

L \

(2) JMs m_]‘:‘]‘g ‘L.;T#;:,‘»g

/

—— ——————

(4)  JmRg/us

111. A slab of stone of area 0.36 m? and
thickness 0.1 m is exposed on the lower
surface to steam at 100°C. A block of ice
at 0°C rests on the upper surface of the
slab. In one hour 4.8 kg of ice is melted.
The thermal conductivity of slab is»
(Given ‘latent heat of fusion of
ice=336x10°J kg™ 1) :

(1) 102 J/m/s/°C
(2) 124 1/m/s/°C

3) 1.29]/m/s/°C 40 -9
(4) 205]/m/s/°C K‘y"&ﬁ/

B 42

Al I{ﬁu‘;{
T = R

‘,ﬁ

109.

110.

111.

. cooxyet 900x19

frfarsr Zoraml o 4 T x-S0 T T TR :

300 ¢ w1 fog 7@ fag 9%, 500 g i,
¢ =40 cm T WU 400 g ®x=70 cm T

&1, Tt & T w1 gl A
(1) 30 cm
(2) 40 cm
(3) 45 cm
(4) 50 cm

o T H TE I R o & Rt e
o 9y T FE R e GeF Y BN
X ol % v i T, B A, $RE
T[oiTa E1e Ffaerad W BN

(1) s Rg

(2} s ng

(3} JRg/ws

(4) JmRg/pg

e 3 T e (e W EAEd 0.36 1

I%ﬁﬂ'ﬁlﬁﬂmﬂ.lm%! Tt Feell ¥

(73 100°C F i F o A R 3
ol wag WO°C I g HF w ot
o e oY 1 4.8 ke & foma S 1
o 3 T E TE T =336 X 10°] kg
a?h,ﬂ'm%ﬁaaﬁwwmﬁﬁ:
(1) 1.02 J/m/s/°C |

(2) 1.247/m/s/°C

(3} 129 J/m/s/C -

(&) 205)/m/s/°C |
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e LB e T A8 PO i *ﬁ;m"ﬁmm"““““ :
.‘ =N I ':': “1.', * ; . | . !
e R 43 B
39 THER :':' | 112. In 4 coil of resistance Id 2, the induced ! ‘. |
. =istance & . 112, 10 Q fy ' i
: current.,devélnped By Changing Mmagnetic Qa 5 Wﬁ g;w A, T
- flux thrgugh it, is shown in figure as 3 # 3 ﬁ-ga
0 g F1, | functinn of time, The magnitude of change RZSLLE & Ty fe2 T SRE gRy
[0emTy, in flux through the cojj in Weber js S fargy ™R @ W Pt @ w
it - . g B wwﬁ'qﬁaa%mm(ﬁaﬁ‘)%-
ek (o) |
Bd |
. o ‘ 7
a % €«
e " R
of 0.1 t(g)
UESIETNS Sl O~ loRUR: ] (‘21J 4 o= @ R
o 4 2 @
i, &R ! 4 6
f_i_'gm_ rest and 13- m aﬂWWI SLIEE: uﬁmmaq,—{
accelerates S0_that the instants neous.’ ¥ TER &fE gt ¢ % e e Iesifors
pPower delivered to the car has 4 constant a5 37 ﬁQT{ -
. _ . 1as ¢ Stz HHP B ceyforgy
magnitude P_. The instantaneous velocity QWW WD E " NI
of this car ig Praportional tg - A ? |
RORNYN 2= PV RN
(2 2P, (2) ©*°p %
(3) V2 (3) t2 %
14 A train Moving at a speed of 929 ms =1 | 114, 15 feery T B 3R 20 s ™7 e
* t-::v;rards a stai:ﬂonary object, emits a soung T g U 3 1000 Hz smgfa = wfy
°" requency 1000 Hz, Some of the sound 3o ) '
: reaching the object gets reflected back to R i ;ﬂ;% W o Td
0P kg the train ag echo. The frequency of the”| AR ¥ H AL S S
A - fer:ho as detected by the driver of the train § @, 1 ¥ SRR 3 wYfm (3rT)
ES : e Ffawafy SUCIEE0i
= v : (speed of sound M air is 330 ms~ 1) (afr 77 gy 3 -1
P T 1 ; E”ﬂ el = 330 ms )
| ((2}) 223{? EZ ‘ ‘ (1) 3000 11y
). 3 z TN (2) 3500 11,
(3) 4000 F15 (3) 4000 b,
4) 5000 H (4} 5000 M
o~ 'H;“q,'.#,.ﬂl"f""l‘l'-'r-""ﬂw ot e Terr s --H..,x..;,-.!;;.m”m'- B B e B 1T LR TET TRy _';.‘_" W
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115.

116.

- (3)

difference V across R is given by :

44

The input resistance of a silicon transistor
is 100 Q. Base current is changed by
40 pwA which results in a change in
collector current by 2 mA. This transistor
is used as a common emitter amplifier
with a load resistance of 4 K1. The voltage
gain of the ampiifier is

2%
‘v o R0 [
(1) 1000 = ’% P2 A
(2} 2000 "
3000
(4) 4000

A cell having an emf & and internal
resistance r is connected across a variable
external resistance R. As the resistance
R is increased, the plot of potential

Pre=\V
v 14 R\

2

118.

116.

ot faferma zifasey @ fraw giats 100 O
2| SUT 4T H 40 pA F ufEda § €U
gy & 2 mA & Ifedd g 81 39 IR
1, SWarTS-seE-Yad® & w9 F, 4 KO
e yfi 3 W sy fra T $1 ), wad®

aﬁaﬁma@zﬁfﬁ:
(1) 1000
(2) 2000
(3) 3000
(4) 4000

s O A fagd o6 59 (3TATF.) ¢ T
st wfrdy ¢ 21 38 T ot iy R
F fadl & e Sigr a1 §1 AfE 99 R &
qT9 =erE W o, R % ol & s fgvarat v
cafcsicrefapii

SRR S IR T o e TR Wmﬂ?“ﬂ:—ﬁﬁfﬁjﬁ

117.

118

t
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- 117. The dimensions of (e, )Y are

) [Llr‘?'rlfz] | |

() LT -
&‘H/[L T

118. : Thg half life of a radlioactive nucleus js

_ 2
the time ts when 3 of it has decayed and

. 1
the time t; when 3 of it had decayed is :
(1) 15 days
) 30 days
(3) 50 days .
(4) 60 days

119. The instantaneous values of alternating

current and voltages in a circuit are given
as -

t'=v§‘@m (100 =t) ampere

1
€ =77 Sin (100 wt+ T4) voly

The average power in Watts consumed in
the circuit is ;

1
(2) =
J3
@ V3 “
) P T 1 (0a O
(4)_ 2

50 days. The time interva] (t; —t;) between

N7, (uoe,) ™2 =) o onft Y

(1) [LI,QTI,'Z] Uto

2) [Llfz.r- 1{2]

(3) [L-iT) N o=
4) [LT-Y | (\E}:‘

118. wmm#ﬁwaﬁaﬁmmﬁa
B9 T S w8

1
gm%maaﬁ%mtﬁmm

3T, (t, —t,) BT -
(1) 15 feo ®
2) 30

50 fg
(4) 60 fam

el

aYr ¢ =71—§' sin (100 wt+ %)'qﬁﬁ'
, mQﬁwﬁ'&Tﬁa&ﬁmW(aﬁﬁ}

i ' NG 6
1 {4 OL,E
1 3 )
. ‘6
@ + |80 L
(3) ‘5/4 OH-(‘&@\ 66 ALY
1 s M
@ 3 ’
2y SO 2K

B | l!_.i'=‘.'

- v

i 1// &
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120. The transition from lhe:sﬁaie_,!_’lﬂ_:_:}_l_t.}_ n==1
in a hydr%gg,like._..,.a;g_{rj _resulis in

ultraviolet Tadiation. - Tnfrared radiation?

. will be obtained in the transition from.:

M—#fﬁ U \J

2y 2-1 7

-000-

it g : o} 'i*.*"ﬂ* T T T e Ty F e PO S M
1 [ . th - s :

(J

46

120. BRSA ¥ wur fat ooy ¥ n=3 HEEq
A n=1 srFeer § g & WA fafwon
1 IS B ¥ @ T g ¥ aeTw

. Wmmﬁiﬂfﬂ,ﬂﬁﬂ;ﬁqﬁﬁ:

(1) 4-3 4
(2) 2-141
(3) 327
4) 42

-000-

>

L T R 4
Bt i

-1 = } ..'1" LU
] 4] - .

w> : e

-

T

it T

1 aiet
! e et s
S 1~lf#ﬂ+“‘

3
+ il .- I - I. p i
CF b e et R
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Read carefully the following instructions :

Freforfes fAdvr erT @ 9g

1. Each candidate must show on demand
his/her Admit Card to the Invigilator.

2. No candidate, without permission of the
Superintendent or Invigilator, would leave
his/her seat.

3. The candidates should not leave the
Examination Hall without handing over
their Answer Sheet to the Invigilator on duty
and sign the Aitendance Sheet twice. Cases
where a candidate has not signed the
Attendance Sheet the second time will be
deemed not to have handed over Answer
Sheet and dealt with as an unfah: means case,

4. Use of Electronic/Manua!l Calcuiator is
prohibited.

5. The candidates are governed by Rules and
Regulations of the Board with regard to their
conduct in the Examination Hall. All cases
of unfair means will be dealt with as per
Rules and Regulations of the Board.

6. No part of the Test Booklet and Answer
Sheet shall be detached under any
- circumstances.

e

. The c_andidates will write the Correct Test
_ Booklet Code as given in the Test Booklet/
 Answer Sheet in the Attendance Sheet.

1.
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gt snd w worw wiened] frlewR woAa
waw-a3 e |

. siefers W wE Friew AR F f AR

et SToR T T S
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wan-zte § s & fau afenedt $1E % Fad
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B |
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